Section-I

Read the following passages and answer the questions based on them by choosing the

correct options.

Evolution has designated vultures to be the ultimate scavengers. Enormous wingspans allow

them to circle in the air for hours. Their beaks, while rather horrifying, are weak by bird

standards, made to scoop and eat flesh. However unappealing they may seem; vultures serve an

important role in the ecological cycle: processing the dead bodies of animals.

Only 20 years ago, India had plenty of vultures—flocks so enormous that they darkened the
skies. But by 1999, their numbers had dropped due to a mysterious kidney ailment. By 2008,

99.9 per cent of India’s vultures were gone. It was finally discovered that they had been killed
by a drug called diclofenac (a pain reliever along the lines of aspirin or ibliprofen). Indians revere
their cows, and when a cow showed signs of pain, they treated it with diclofenac. After the
animal died, the vultures would eat the corpse. And though they boast of, perhaps, the world’s
most efficient digestive system, the vultures cannot digest the drug. India banned the use of
diclofenac for veterinary use in 2006, but it’s still widely used. The near-extinction of vultures

has caused disease in the country, as rats and dogs moved in to take their place—spreading
therwise been destroyed by the vultures. Vultures need large ranges

They also need an abundance of prey

pathogens that would have o

to scan for food and undisturbed areas in which to nest.

species since they rely more on chance than their own hunting skills to eat. All of these things

have been reduced by human activity. Meanwhile, there is a dramatic increase in secondary

poisoning. Vultures feed on carcasses laced with poison, intended to kill jackals or other

predatory carnivores or they are poisoned by the lead in animals left behind by hunters.

1. Vultures serve an important role in the ecological cycle as:

A. they eat less
B. they process the dead bodies of animals

C. they help maintain food webs

D. they clear grounds with their wings
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;Woodland, E . : .
ach fa@ly held the view that the other claimed the woodland illegally. Though

2. The reason behind vultures dying is:
A. they feed on carcasses laced with poison, intended to kill jackals or other predatory

carnivores,

B. they process the dead bodies of animals

C. they don’t have enough open space to fly
D. they clear grounds with their wings

3. Wliy are the vultures’ beaks considered weak?

A. they are of no use
B. they are meant to SCOOp and eat flesh only
C. they are used to kill their prey

D. none of them

4. ‘What is the most alarming fact given in the passage about the vultures?

A. they cannot digest diclofenac o -

B. they eat corpse

C. they are enormous

D. they have weak beaks

5. Which of the following things, necéssary for vultures, reduced by human activities?
A. large areas to scan for food

B. undisturbed place for building nests

C. large number of preys

D. all of them

Read the following passage carefully and answer the questions that follow:

Reco families i . .
amilies in the Carpathian Mountains were at loggerheads, over a disputed forest land.

Ulrich v o
Ich von Gradwitz, the local nobleman was the head of the Gradwitz family whereas Geor ge

Znaeym - :
£4naeym represented the Znaeym clan. The bone of contention between the two families Was the

it
L

o
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f:gan as a legal battle, it continued for generations as a hate- filled conflict between the two
A oy A o s
over the land, th unfsmen, Game oot onto the land. Though each came to defend his claim
rifle in his hatnj ull]te“or motive was to destroy his enemy by shooting him down. Each had a

ate in his heart and murder in his mind. Leaving his retainers, Ulrich
unexpectedly came all of a sudden face-to-face with George. Each one of them had a rifle in his
hamd and intended to use it because no interlopers would interfere. Before either of them could
speak, a sharp blast of wind tore from the ground the giant beech tree under whlch'they stood,

inning th
g em underneath. The impact of the shock left them speechless However, both of them

were glad
glad that they were still alive. But instead of continuing their conflict with gurnshots they
his

had to i . C _
continue theg conflict in words. A little later, Ulrich freed an arm and reefched into

pocket for the wine flask that he had carried, greatly relishing the drink. As he looked across at
h the

d the

his enemy, some change came over him. He offered George a drink from the flask, whic

mbined effects of the situation, the shock, an
hange

other was barely able to reach. Under the co

wine, Ulrich saw the similarity between him and his fellow sufferer, and this brought ac

of heart in him.

6. Name the two clans who were in conflict with each other: the feud between the two

families?
A. George von Gradwitz and Ulrich von Gradwitz /
B. George von Gradwitz and Georg Znaeym

C. George Znaeym and Ulrich von Gradwitz ’ 7

D. Gradwitz and Znaeym ]
7. What does ‘loggerheads’ mean in this passage?

A. a reddish-brown turtle with a very large head, found chiefly in warm scas.
B. a state of quarrelsome disagreclhent

C. a widespread North American bird :

- D. a human head that looks like a piece of log ; ‘
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8. What was the reason of dispute between both the families?

A. each family held the view that the cher had more wood in their land
B. each family held the view that the other claimed the woodland illegally
C. both the families wanted to ruse the woodland

D. none of the above

9. The meaning of ‘ulterior motive’ in the passage is -
A. irrelevant motive
B. hidden motive.

C. baseless motive

\

D. all of the above

10. Which incident was instrumental in bringing about a change of heart in Ulrich and

George?
A. the falling of the giant beech tree

B. the realization that they were alive

A\

C. the shock and the wine

D. all of the above

Answer the following Questions by selecting the correct options:

11.Which of the following options has the similar meaning to the word ‘forbid’?
A. forbear :

B. foretell \
|

C. prohibit

D. propose

et
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12. Which of t AP
: hich of the following options has the opposite meaning of the word ‘extravagant’?

~ A. spendthrift

B. lavish

C. simple

D. thrifty

13. A period of ten years is called a:
A. century

B. decade

C. millennium

D. none of the above

14. A person who studies human societies and cultures is called:
A. a philologist

B. a pathologist

C. a humanist

D. an anthropologist

15. The child resembles his grandfather. (Choose the correct phrasal verb from the options
given below to replace the underlined word) ‘

A. looks after
B. takes after
C. falls after

D. looks for

e 7
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hanged

16.I never liked sea food, but ¢
jven below to replace tl

phrasal verb from the options g
A. came around

B. came up

C. came down

D. came out

17.To ‘see eye to eye’ means:

A. to look tenderly at someone.

B. to agree with someone

C. to argue with someone

D.to have an eye contact with someone

18. To ‘call it a day’ means:

A. to stop working on something
B. t;) work better

C.to staﬁ over

D. to be late for something

19. I asked her what her problem ;_vas, but she
A. Stayed
B. put
C. kept

D. felt

my opinion after trying lobster. (Choose t
1e underlined word)

he correct

quiet. (Choose the correct option.)

20. She is a athlete. (Choose the correct option.)

A. famous
B. primary
C. best

D. winner
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21. 1 am going home five days. (choose the correct option)

A. on
B. at
C.in
D. no preposition

22. 1f Raman had more time, he more. (choose the correct option)

A. travelled

B. would travel

C. would have travelled

D. would have been travelling

23. Please help me l the camp.(choose the correct option)
“A. setting

B. set

C. for setting

D. none of the above

24, you mind lending me your pen for a while?(choose the correct option)
A. could

B. should

C. may

D. would

25. The most important of all my goals ___tolearn English.(choose the correct
option)

A is

B. are

C.be

D. have been

Section-I1

3@6%@ Q096 Seea a2 AIRgQl 94 96ea SIA6AIT aaIey aea Aug O] 29T Q13 6Rd |

AR giagd 9T 60 SR IR GIY 960 6AITEI 98 1@ 9@ §1ARA Rgel AITR ARLER
| #1898 9906q BEaIGE FFH O6Q HIFYS ON ALIS TG G FGIR1 QIR FREER AGRIA Q@Q

7% 95
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g58e &Rl | 654 AhEra a3 QIREEER QUIRE! FIRIA ARG @ G498 acel ?:160 QAGQ@@ 24|
AQICAQeITR 9R6AAa Fe0d ERFR SgAIRTY ol6a 696 §eR QIR adia @Gsa, o1
GBaaal g6d AIFE 62IRgRI | 620I6a GIWa qd 6 g@IeaIn QuIAes 8% 9191 641Q 621REA |
glasans 2Re8ea gF o gaw qlad saig g giota 6 ZeTRal A 6q60aIa6a QUG ada |
QAess 967 AR0E QISR FFIRAEIEA A2IEAAeIZAa aAg 98 6 AW 3699 62IRgMI | 62
qieuiaia Gdia QIdy Baee F688 AR 6aa AIRRESR | gIacaR A9g AT QI9°aR gETa 9ae
Q6Q QIGIHI AREAGIER Y19 @088 | 604 *Raa A 608 Qiel FIZIEAARIRIR 62Q88 CIW0

Joing | A2EANRIRINE Q64 BIF g8 ARera alal e2ixe6m |

94

26. 189G ONGR ARG AT QIGEQIA &4 6QITEI FREYER ?
A. HI96QR

B. A216A1QIIF

C. A2I6ARQIIeE g2

D. 268IR

27. AICAARITIR Gela QAR OR AINIIFTR [IF @6l gRI 2
A. 96249

B. §9QIR9¢

C. QR

D. AGRI

28. Glacaes 206ae g¢ od gd 9i91e ¢ 201RaI RAA QI adgwI ?
A. 8g 634 AR

B. 2962919

C. AI56Q GA0 62IRYQ

D. go® <164l 6QIg

20, FIRICAARITIR, HINCRRTR ANGER @€ 626 ?
A. del

B. doi0e

C. 9aeIne

D. 98

30. ARICAARIARE T6Q T4 RFTQ QIR 6TIQGEM ?
A. HI06QR

B. @Rar6Qq)
C. H06eae dol
D. ¢I06aee 98
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‘ 2@69%‘ 21089 Aga G QIRYSI g4 goea IR6AIT A A9Q AUR O] 28aF IF 6ad |
U9 AR 10 Fas goew caq- g604a | 6A ARINESE QAR ATR- 217 ge3Ya |
4@ 961 ? AR IYQ OIQ 25 geaye, 5ad Giq 2 Geq 6%, 79 AU6A 29I AR FASIERR 217 geYe
| 99 2IARIGA 2e Gaca gase | Qeq gaen 97919 91 5ea @8 airid cal 2eal aaas
aneea EIN9G 62919 991 GIAIEA 21N F9IA 57 Q60 | AIRAAR! - 21A §91A 963 | Q08 12! 216
96613 0968 9]G ged | Adia Feq Q21N BI96a 57 CIBEA- G121 ARG BRTIA RGs 2GS
calpde | 699 @6 801, Hea 2itie 4G, 08q AN, 0IfeIGe 36 aKT6a 2980 o aIden e
2021 22FIR 6 QIAG 960 620 | 6a 98 21 AR T 6ga B | feg f18el @ gidie aaqy |

a4
31. ‘GYIQ°Q AN 9@ FRC gGae @'a ?
A. 2R4QIQ |
'B.Q6RE
C. 96N
D. Ag6RYS

32. 399 OF O QA6Q 21 AIAL *AR 62R o
A 29 96D

B.&8]Q1Q

C. 26nlae 6@

D. qQ4 |IQ

3. 988 Sag OF Q196 57 GI6A SIFIRQ €'6 20AIAE 621AAR ?
A. 899 @@

B. 6@l

C. 22519

D. 2106QIQ

34, 9'q 2195912 g3, PRl G121 217 J66IA AA6R IR Q6% ?

Augadel
- B.2geds
~ C.adaqel
- D.afiede §6
35,600 BIRg 644 I 691A gRIAINE ?
 Azemie
- B.Rqage
o Camdyaig
~ Dodegeame
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Q0Q 20 QUL -

36. QIRYER 231 691G 9F 2RI 0@ gEeR Adearig Z6am asR olRlg__ gEIdN l

A. 6IGHG
B. 2IQrrgl
C. Q&
D. QIQYl°8

37. @QIf &2 6Q9AIR QR 6ARYER | 92 694 gRIQ QIR ?

A. G419 QIRY
B. g4 9o@ QlIeY

C. 994 9oe QIaY
D. 2A9% 4o QY

38. g8 9e5Q o9 -
A. 984129

B. g@4QQ

C. geIge

D. g9

39. 'AQdNeaIen’ Qaq a0 2d fda ea ?
A. 2949 2l -

B. 2a4ig G9IQ

C. Qall gigial

D. 26219 2AZ6a1

40. '1219266 Qd'- 9@ A6 gRI¥ @a ?
A. Q98

B. A28

C. Qed

D. gaQ4

41. '9006" aaa 909 FAQ1e 26RRIR IRE T2 ?
A. {949

B. 290¢

C. @9de

D. 2894d¢
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2,728 890,999 | 2 60ifia aqar I" - 0e% 606 8060 AgE ?
A, Q€98
B. AoqlsN
C. Qeraig

_ D. g@a

43. '@qag 2l ARR 609, OF QI0aE 21 958’ 96T 600 ARFINER AYS?
A QUG ARTIQ : | s ‘

B. Q09I 2ARFIQ

| (. Qe6a8l ARFIR

D. UG6R ARSI

44,699 695 'A9'Q AAICARIQ 99 §6L ?

AQQ |

B. €I

C. a8Q1

D. dIQIQI

45, '2941" 919G 69 gRIQ 68 ?

A. 92671 98

B. 68Q 48

C. 604915 &9

D. 656Q4% €&

46, 'cOI90 GASIQ AR’ - 9F 1@ 9968 I QQ ?
A.q@sl

B.999

C. o1l

D. daisl

47. ‘98¢ ara AF F6g2 @Q ?
A 9Q+9Q
' B.Q@ + @90
- C.an+20
~ Degtae
. 48.600 B9 QIETIQI FI6M [ NOI6R
A.Q8IQI09
~ Bedaee
- C.oqdqieq
D.2aeg qoe

1QIETIAN 496 600 RO ?
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49. 'CE9R" 9R6Q AAIQ QIF g2 ?
A. FRIQGERITT SFIAL

B. QU6¢1G QARG

C. QAR QIR

D. QER QFRINE,

50. 606 21944 O° GO I GIQ QI PR 6@ G AP 621R 967 a7 48 *RAIB, 6Qgee
QIAEQ QIFS ?

A QI0Q
B. 303
C. Qq1Q
D. Q994

Section-I11

51. Who is the Father of our Nation.

A. Jawaharlal Nehru
B. Dr. Rajendra Prasad
C. Mahatma Gandhi
D. B.R.Ambedkar

52. Who invented Computer.
A. Albert Einstein
B. Charles Babbage
C. Steve Jobs
D. Mark Zuckerberg

53. What city Statue of Liberty is in.
A. New Delhi
B. New york
C. Sydney
D. San Francisco

54. Which is the longest river on Earth.
A. Amazon
B. Ganga
C. Nile
D. Missisipi

14
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55

-Smallest state of India is.

 A. Mizoram

B. Tripura
C. Nagaland
D. Goa

_ Which plant grows in Deserts.

A. Cactus
B. Mango

C.Apple

57.

58.

59.

60,

61

D. Banana
A figure with 8 side is called.

A. Pentagon

B. Octagon

C. Hexagon

D. Quadragon

Agra is situated on the bank of river

A. Ganga

B. Yémuna

C. Saraswati

D. Brahmaputra
National Animal of India
A. Elephant

B. Lion

C. Tiger

D. Deer

Shape of Egg is
A.Round

B. Oval

C. Square

D. Rectangle

. Cataract is a disease of

 A.Eye

- _B.Ear

. C.Nose
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62.

63.

64.

65.

66.

67.

Who wrote our National anthem.
A. Mahatma Gandhi

B. Rabindranath Tagore

C. Sarojini Niadu

D. S.Radhakrishnan
Capital of Uttarakhand is
A. Haridwar

B. Rishikesh

C. Dehradun

D. Chandigarh

We get Solar energy from
A. Earth

B. Sun

C. Moon

D. Mars

Where does dog Live

A. Stable

B. House

C. Kennel

D. Nest

‘Who wrote Romeo and Juliet.
A. Charles Dickens

B. George Bernard Shaw

C. Margaret Thatcher

D. William Shakespeare

Who was George Washington ?
A. President of India

B. President Of America

C. President of England

D. President of Australia
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68. ‘(:‘limpic games are held in every‘
B.5
C.6
D. 10
69. Who is founder of Microsoft.
A. Steve Jobs
B. Bill Gates
C. Milinda Gates
~ D. Donald Trump
70. Who was popularly known as Netaji.
A. Sardar Ballavbhai Patel
B. Lala Lajpat Rai
C. Binoba Bhave
D. Subash Chandra Bose
71. Kuchipudi is a dance form of which state.
A, Andhra Pradesh
B, Tamilnadu
C. Karnataka
D. Kerala
7. Which bird cannot fly.
A, Parrot
‘ - B. Ostrich
C Sparrow
- D. Hen

~ ™. Which place is known as Tea Garden of India.

- A, Manipur
~ C. Sikkim
~ D. Assam
~ . What does UPS stand for.

A Unusual Power Supply

| B Usual Power Supply

a :f';"t'c’-;“:Unjmerrupt ed Power Supply
j'.B‘,:Uﬂhindered Power Supply

17
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75.

76.

7.

78.

79.

80.

81.

Teacher’s day is.
A. November 14
B. September 5
C. October 2

D. August 15

Name the first female Indian Astronaut.

A. P.T.Usha

B. Kalpana Chawla

C. Bichendri Pal

D. Sarojini Naidu

How many states India have.
A.29

B.28

C. 2/

D. 26

Who was the inventor of Light Bulb
A. Albert Einstein

B. Thomas Alva Edison

C. Wright Brothers

D. Graham Bell

Name the lightest gas.

A. Oxygen

B. Hydrogen

C. Nitrogen

D. Butane

Where is Ajanta Caves Situated

A. Karnataka

B. Maharastra

C. Madhya Pradesh

D. Odisha

Who is the founder of Sikh Religion
A. Guru Gobind

B. Guru Nanak

C. Guru Khalsa

D. Guru Sardar
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82. Who is called the Indian Nepoleon
A. Chandragupta
B. Chanakya
C. Akbar
D. Samudragupta

83. Full form of HTTP.
A. Hyper Text Transfer Protocol
B. High Transit Text Protocol
C. Hyper Text Transaction Protocol
D. Hydro Tower Text Protocol

84, What is the script of Hindi Language
A. Sanskrit ‘
B. Devnagari
C. Bhojpuri
D. Magadhi

85. Which planet is known as Red planet.
A. Pluto '
B. Mars
C. Earth

D. Uranus

86. Narendra Modi was Chief minister of which state ?
A. Gujarat
'B. Rajasthan
C. Uttarakhand
D. Punjab

. What does CPU stand for.

: A-‘Central Propulsion Unit
2 Cghﬁal Periphery Unit
E. Ce“tral Processing Unit

D, .
7 Centrg propagating Unit

19
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88. Which is the largest bone of Human Body
A. Femur '
B. Tibia
C. Humerus
D. Scapula
89. Name the biggest planet in Solar System
A. Saturn
B. Jupiter
C. Earth
D. Mercury
90. Who gave the slogan do or die.
A. Subash Bose
B. Sardar Patel
C. Lajpat Rai
D. Mahatma Gandhi ,
91. If ABCD is 1234, what is EFGH

A. 6789
B. 3456
C. 5678
D. 4567

92. What is the next no of the series 1,2,4
A.6
B. 10
C.8
D.5

93. Rama is 12 years old and 5 years younger to Shyam. What will be their age after 2 years.

A. 14,15
B. 13,17
C. 14,19

D. 16,17
94. If X= 3Y-2, what is the value of Y when X=1

A.0
B.4
C.3
D. 1

2
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- 95. Arrange the words given below in a meaningful sequence.
1) Nation 2) Village 3) State 4) District
A. 2341

B. 2,4,3,1
C. 1,234
D. 4,3,2,1
96. If perimeter of a square is 16 what will be the square of its sides.

A.4
B.8
L U
D. 16
97.What will be the square root of 121.

A. 10
B.12
C.11

D. 21
98. If two sides of a right triangle is 3 and 4 what is its Hypotaneous.

A.3
B.4
C.5

D.6 | .
99. Result of addition and multiplication of a number is same. What is the number.

Al
2
.3

oOow

100 .V‘:’hat will be the probability of getting an even number in throw of a dice.
1
2
3
4

COwp
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